US Stations Hot Springs 125 Corporate Terrace Hot Springs, AR 71913 USA 501-525-9700

Order #:

13550-00003

Description:

DISTRICT COURT POSITION 2

Date Entered:

red: 2/14/2024

P.O.#: Salesperson:

Hampo, Diana

Invoice Frequency: Billed at end of Cal/EOS, Sorted by Date Notary Req'd

COMMITTEE TO ELECT KARA PETRO JUDGE

On-Air Schedule

5	Start Date	End Date	Station	Scheduled	d Time/Event	Repeated	Length	Qty	Rate	Total	М	Tu	W	Th	F	Sa	Su
1	2/16/2024	3/5/2024	KLBL-FM	06:00:00	to 19:00:00	CUSTOM	:30	200	5.10	1020.00	Υ	Υ	Υ	Υ	Y	N	N
	2/16/2024	2/18/202	24					16	5.10	81.60	0	0	0	0	16	0	0
	2/19/2024	2/25/202	24					76	5.10	387.60	15	16	15	15	15	0	0
	2/26/2024	3/3/202	24					77	5.10	392.70	16	15	15	, 0	16	0	0
	3/4/2024	3/5/202	24					31	5.10	158.10	16	15	0	0	0	0	0

Order Start Date: 2/16/2024

Order End Date: 3/5/2024

Spots: 200

Total Charges:

\$1,020.00

Projected Calendar Month/End-Of-Schedule Billing Totals for COMMITTEE TO ELECT KARA PETRO JUDGE / 13550-00003 :

Total:		200	\$1,020.00
March	2024	47	\$239.70
February	2024	153	\$780.30
		Spot Count	Net Billing

Confirmed & Accepted for US Stations Hot Springs By:

Accepted for COMMITTEE TO ELECT KARA PETRO JUDGE By:

75	ô	00
š –	S	75
1	3	
		1



City:

Item #

Client:













Clien	Orde
-	7
	-1
	0
	U
	1
	,
-	
	99

roadcast Time Order

Signature: _ cancelled with less then two weeks written notice unless otherwise noted. All changes must be in writing and initialed by both parties. Client agrees that for any agreement in which a discount has been applied Accepted for Client by: Print Name Advertiser warrants that it is not purchasing advertising time that is intended to discriminate on the basis of race, ethnicity or gender Non Discrimination Policy: US Stations LLC does not discriminate in advertising contracts on the basis of race, ethnicity or gender, and will not accept advertising which is intended to foster such discrimination objectionable. Rates are good for the term of this agreement only, and are not guaranteed beyond the term of this agreement committment. This agreement is not firm until countersigned by Management of US Stations, LLC. US Stations reserves the right to refuse any broadcast material which station deems, in it's sole opinion, to be in exchange for a long term commitment of 26 weeks or more, any termination with less then two weeks notice shall result in a short rate (to full ratecard rate at the time) for all commercials which have aired based on that This is a time order contract for services as outlined above. Payment terms are Net 10 days from date of invoice unless otherwise stated. Accounts over 30 days are subject to late fees. This contract cannot be **Product Code:** Contact: Address: Agency: Rate Start Date Phone: Co-Op Yes State: **End Date** to elect Kara Hotza Lucige This is a legal contract for services. Please read before signing. 374大万 Start Time KZNG-AM Revision to N_O Date: Zip: Co-Op Name: **End Time** 2/14/2024 されていたころく Length 0 Spot Spots Per Week US Stations LLC · Hot Springs, Arkansas Title: Accepted for US Stations by: ACCOUNT TYPE Order Date: Account Exec: 3 L/A 5 8 Affidavit Required? 규 POL NTR TI Sa Su Total/Gross: Total/Net: Yes No Spots Total BILLING TYPE EOF ☐ Broadcast □ Calendar Page of Dollars 020 Total

US★Stations, LLC

US Stations LLC - Hot Springs, AR

Candidate Advertising Form

Proposed schedule on attached order. Actual s	chedule and charges on station confirmation
I, MARKE ALLEN	nereby request station time as follows:
Federal Candidate	★ State or local Candidate
Candidate name: KARA P	CHRO
Autorized Committee:	
Agency (if applicable)	RIFER PLANS
Candidate is a member of the:	political party,
seeking election to what office:	
Election Date:	Primary General X
Treasurer of candidates authorized committee:	Fornest Spiller
•	
The undersigned represents that the payment for	the broadcast time has been furnished by
Choose one:	the broadcast time has been furnished by:
The Candidate listed above, who is legally qu	alified.
The authorized committee of the qualifed ca	
By signing this form, the signee agrees the station is au	thorized to annouce the time as paid for by party; and
e station has disclosed it's political advertising practices,	
THIS STATION DOES NOT DISCRIMINATE OR PE	RMIT DISCRIMINTION ON THE BASIS OF RACE,
GENDER OR ETHNICITY IN THE	
	For US Stations LLC
Printed Name:	Printed Name: CAR Y D. TERRELL
Signature:	Signature: Um S. Juli

Federal Candidate Certificate: (Federal candidates only): The undersigned hereby certifies that the broadcast matter to be aired pursuant to this disclosure either (a) does not refer to an opposing candidate, or, if it does (b) contains at least four seconds of the candidates voice in which the candidate notes his/her approval of the broadcast. In addition, that the candidate and/or the candidate's authorized committee paid for the broadcast.

Candidate/Authorized Committee/Agency (where needed)
Signature
Name
Date
TO BE COMPLETED BY STATION ONLY
Federal candiate certification signed above (if needed) Yes No
Was ad submitted to station and checked for disclaimer? Yes No
Broadcast order disposition:
Accepted By: Accepted pending receipt of copy Rejected - provide reason
Date and nature of follow up, if any:
Station Call Letters Date received:
Station City of License Run dates if different from order

This form must be uploaded to the FCC Politial Broadcast Website section, and should include an insertion or station broadcast order form used and any station generated confirmation.